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CERTIFICATE IN NUTRITION AND CHILD 
CARE 

Term-End Examination 

June, 2018 

CNCC-002 : ORGANIZING CHILD CARE 
SERVICES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Question No. 1 is compulsory. Answer any other 

four questions. 

1. 	(a) Fill in the blanks : 	 10 
(i) Infancy is the period of 	 

growth. 
(ii) 	 means that development 

proceeds from simple to complex, from 
general to specific. 

(iii) The Government adopted the 
National Policy for Children in year 

(iv) Pre-school education aims at 
	development of the child. 

(v) 	should be the medium of 
learning for young children. 

(vi) 	  is the term used is refer 
to the child in the first month of life. 

(vii) Wheat is a rich source of 	 

(viii) At birth, the baby's 	is most 
developed as compared to the rest of 
her body. 
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During birth to one month, the new 
born adapts to her surroundings 
through her  

(x) The child begins to walk around the 
	 birthday. 

(b) Write short notes on any two of the 
following : 	 5+5=10 

(i) Altruism 

(ii) Self Concept 

(iii) Balanced diet 

	

2. 	(a) Explain, giving examples, how play helps 15 
in the child's development. 

Briefly describe the concept of 'Critical 
	

5 
period'. 

Describe the various factors you will keep 10 
in mind while evaluating an ECCE centre. 

State one activity each for fostering. 	5+5=10 
(i) Creativity during early years. 

(ii) Concept of number in four year olds 
justify your choice of activity. 

	

4. 	(a) What are the factors influencing language 15 
development of young children ? Give three 
activities to enhance language abilities of a 
pre schooler. 

(b) Explain why the preschool child is not able 
	5 

to conserve. 
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5. (a) Aggressive behaviours in a child may be 10 
found due to heredity and environment 
both. Describe the environmental factors 
which can promote aggressive behaviour in 
the child. 

(b) What is understood by 'Concept of 10 
number' ? What are the various aspects that 
are involved in it ? 

6. (a) Suggest a nutritious snack for a three year 10 
old child. State the ingredients of the snack 
and the nutrients provided by each 
ingredient. 

(b) Describe the stages of cognitive 10 
development in the first two years of a 
child's life. 

7. (a) Plan a schedule of activities for three days 12 
for a group of 4 - 5 year old children in ECCE 
centre, stating what activity you will carry 
out at different time periods on the three 
days. 

(b) What are the factors you will consider while 
	

8 
planning the schedule ? 
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1. 	(a) 	Rcto TaTTff 1-1f77 : 

(i) *vrar4TAT1  	3Tqfq 

t 
(ii) 	 aitiurzi t fw1-4-*Fr kiko 

A-  Aldo 	aT'R, 11 4-11.4-1141-47PZ 

~la1t1 

1:17*-17 -g1TT (si 	* Fri 	 Tfg, 

aTcr-ir 
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(v) 	 (siffTrur4 
	 ~Hi -rFTR i 

(vi) 	 kieq *T ti)'I 	147 

	 14)411 	t 

(vii) 	ITT d1-11-1 	t 

(viii) 7-44 	kviti 	zTrk 

*tsr 	qctir 	3Trw lactfild 

ad! ti 
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(ix) 7744 A 	 111-g• 

-1:11"K14 	3174 -9-ft-d-vr 
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(b) 
	

1-14-110115d -44 	t 	Titivq.  f3W ftilll  

: 	 5+5=10 

(i) (-R 	 

(ii) ZI- 4c1)C4-1-11 

Ttgr7ff aTITR 

dcmvii c TTcrtz 	 Acblt 	15 

4i 	fa~T 	ti~ I 	t I 
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5. (a) E 14 31-W11:1W otiaw3-1T-14NTTal 	PVT 10 

cbituf   t 
auk i 	 i 311-017W wait 

-kTr-*tti 

(b) 	4tsql 	4cnc-4 11' 	E1T 3454771 t? 	10 

444 cid fq-fiT 	 ? 

6. (a) 	lii.) 	 1, 	3TFrraT 	10 

717R I 31- 1-ffR 

Th—d-k aic,) 41w ch Cc! t 	4 -47-47 I 

(b) 	tAlalt -g2mta41 -4   4711110-Iah 10 

fa--*-Fr 	3T-aTEIT3 	auk .-11.-A-R 

7. (a) 1...t ;1•-•t 4 - 5 

	

	 12 

fibqoff 

74-49-r 	14 	310-IT-31Wr 

3Taftit cb1-1- 	Tn.  id 	NW( 3Trze-A-a.  

AR,  1, ffT-47 I 

(b) 31701' .--1z1Y491 -4--iT kviti 377 4-1-ictri -T•(-*1 	8 

tz119' 14 T44 ? 
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